INDIAN SCHOOL AL WADI AL KABIR

TOPIC: ADDITION WORKSHEET NO.

DEPARTMENT OF MATHEMATICS (2021-2022)

RESOURCE PERSON: Ms. ANJALI

NAME: CLASS: 111 SEC:  DATE:
I. Fill in the blanks with the correct answer:
1.36 +19=19+ __
2. 1 more than 8999 =
3.2459 + 1 =
4. 3267 + 100 =
5.658 + 0 =
6. The answer of addition is known as
7. The sum of the greatest 3-digit number and the smallest 4-digit numberis __
8.45+10+45=10+__ + 45.

II1. Solve the following:

4 590

+3 2 4 1

III. Solve the word problem given below with proper statements:

1114 birds were sitting on a tree. 1211 more birds flew up to the tree. How many

birds are there altogether on the tree?
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